BATRIJSCAFIE 7 = A7 4 LK PKtE RS & (P 2% 1/2
HIH :20214E1H10H (H) O ERRE R NT KK (25m)
ik X — Z Rk LERE 1:13.99
N2<- 91 gtﬁl‘i?ullgor; Tk A LL—RRHE %%EJ‘E?.; 1:18.95
BfL. K 4 i B BE KK = 50m
1 7T A VA AVE 7IN4 3/ 2 1:23.97 40.00  10#%
2 =& ¥AH LAY 7L 7IN2 1/ 2 1:34.93 4471 12%%
3 PR Fl L4 7 /NG 1/ 3 1:35.00 44.15  THE
4 IhH  FEH PVE R AEE! /N4 1/ 7 1:39. 85 4777 5Hk%
5 MR pkEE LAy 7L ! 1/ 6 1:40. 64 47.89 5%
Tk =X — R 2ERES 1:09. 75
N2<‘ 91 szgog TR FALL—RRE %%ﬁéaé 1:12.57
BESL. K 4 ir B 2E KK =G 50m
1 &R ] BHF v N6 5/ 1 1:18.40 37.91 104k
2 AR FufE Vot AV NG 5/ 8 1:20. 07 37.44  Of%
3wk AR (O A EE| NG 3/ 7 1:25.08 39.88  THE
4 &) =H EZlES S /NG 3/ 6 1:27.53 4112 THE
5 k& £ BEEETF v > 7 /N6 3/ 1 1:29.33 42.20  6fk%
6 e RSCE + /NG 3/ 8 1:29. 71 42.55 6%
T eRE WA RSCEH + /NG 1/ 4 1:31.91 43.06 6k
8 [LiFL % R EE /NG 1/ 5 1:34.12 44.69 6%
9 Gl FE3E TT T b 2/ 2 1:36. 38 45.59 5k
10 [ H  SEme BEETF v 7 /NG 2/ 6 1:37.61 *F&  46.83 5%k
11 8K ®|& BERETF v Hl 2/ 7 1:38.30 46.96 3%
ik X LETH 1:07.19
N2< 91 5?4%)()[; s A LL—RRE %%m—ag 1:09. 39
G K 4 =B 2E KK s 50m
1 %Rk HER EZlES S ] 6/ 1 1:13.93 35.30 10k
2 WY L A-1SS 13 6/ 6 1:14. 7 34.78 10k
3 IUTF HER LAY T ] 6/ 2 1:14.74 35.33  10%%
4 BB Zsx AS Y AVE HE ==h] 5/ 3 1:15.59 35.66  Of%
b %k AW vy FHRH th2 5/ 2 1:17.28 36.60 9%
6 BRI BEHFY 7 1 4/ 2 1:23. 21 39.42  THE
T BiA &3 RSCE + R 4/ 3 1:23.98 39.70  THE
8 K# HiAd A-1SS Ml 3/ 3 1:24.01 40.10  TH%
9 NIL FIE L ZlES S 2 4/ 7 1:26.28 40.54 5%
10 B FHIH vt AV ] 3/ 4 1:26.97 40.22 61k
11 Rk B4 A H2 3/ 5  1:27.88 41.81  5#k
12 (Ul Wz FHEES C 12 2/ 3 1:33.28 43.05  3#k
OPN ¥y HAL 7 =7 g H2 5/ 6 1:15.25 35.60  Ofk
OPN =8} 7% HERS S 12 5/ 4 1:16. 61 36.40 9k
OPN uﬂiuﬁn[ﬁml”\ WER S H2 5/ 5 1:22.35 38.56  T#k
OPN ARiF 4 WHES H2 4/ 6 1:23.75 39.05  6#k
55 SEEHE  1:08.12
No.9 KT 1000 ik 84 L L—RRHE emmm 10012
IBf. KK 4 i B PE KK i 50m
1 HF T BEHF Y7 @l 6/ 5 1:15. 69 35.42  9f%
2 BeAROLD TAVFE DR =] 5/ 7 1:22.40 39.01 6k
3 FOH A7p F L4 7 13 4/ 4 1:22.97 38.97 6k
4 thEE  EML ~/)LTSC =2 4/ 5 1:23. 46 39.41  5%%
5 EEF B WEFS S =3 4/ 1 1:25.99 41.05 5%
OPN {Ejk EAy b e o] =1 6/ 4 1:13.42 34.21  10#%
OPN PN Bl 7 =7 g 3 6/ 3 1:13.82 34.99 Ok
HAOBEKE: 1H10H 10:37



AT JSCAFE 7 = AT 4 2N)LKUKE RS i (DEE) &85 2/2
HH : 202141 H10H (H) S5 Fr i RNT K Pk (25m)

No.9 ZF 100m ik A4 L L—RREE SERG  1:08.12
<< 15'\'185-!4—\E >> B4 FE 5T % 1:08. 40
B K 4 & BE KK B e 50m

OPN il Hi%f AR m2 6/ 7 1:14.20 35.38 Ok

OPN Fnlp 2 4 3¢ FEER 52 6/ 8 1:16. 69 36.66 8k

HAOBRME: 1H10H 10:37



